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0 0 0 L
I 0
_ - -COS@ZJSin@ZJ-FCOSCbSinQb_Sin¢cos¢
_ |99 9 sin® ¢ + sin® ¢ + cos? ¢
8u1 aUQ a(b_ 0
oo oy
= Low 9w 30) |

= coszﬂsinzﬂ% + (sin? ) + 1)i
1

8U2 ’
W(w)
0

. 0 0
= (ylslﬂ¢+y2008¢)a—ul + (= ylcosgzﬁ+y2smgz5)—+8—¢,
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20 0O0O0gdogooboobooodon

ggoooodgo

(cos wﬁ — oS ¢— + sin ¢—> (sm w— — sin <b— — CoS ¢@> aﬁ‘
2
(cos wé — cos qﬁ— + sin ¢5—> <sm zp— — sin gb— — CoS ¢@> ‘
2
(—costsing + Cosqbsmz/z) 8_ + (—cos ) cos ¢ — smgbsmzp)a— A 8i
0 0
+(cos? ¢ + sin? ¢p) — o, 8y2
0 0 0 0 0
sin(y) — ¢>_ A gy oSt = cb)a— o 5 o
\/sm — @)% + cos(yp — ¢)? +
V2,
‘df (cos w% — cos ¢8igh + sin ¢8iyg> A df (sm w% — sin ¢(?il — cos (b@iyz)

it (35)

0 0 9] 0
2 7 . 7 . 7 < 2 7
H(cos v+ 1)8u1 +COS¢51H¢@UZ} A {COS¢51H¢3UI + (sin” ¢ + 1>8u2}

A{(ylsiﬂ¢+y2003¢)aiul+( 91€OS¢+?J281D¢)£+%}‘
cos? +1 cosipsinty  y;sing + y cos ¢
det | cosysiny sin®y +1 —y;coso + yosin ¢
0 0 1
|(cos® ) + 1)(sin* ¢ + 1) — cos® 1 sin® 9|
| cos® 1 + sin® ¢ + 1
2.

gogoobobodg 13800

Jf—\/_—\/_

00000000ooooooooD (xoooooooooood

\/i/ Kodp = \/5/ Ko(s)ds - A(Dy) - 2w
C()><D1><SO(2) co
= V2(27m)? - A(Dy).

ggbobobooogbbobooooobobo

/M(R?> </D “0<8>ds) du(g) = (2r) - A(Dy).
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U0gad DyOOO0ODOOODOOOOODOOOOODOODOOOODODOODbLOOO

/M - ( /D - fﬁ(S)dS) du(g) = /M - ( /cmg—mo fﬁ(s)ds> dp(g)
= /M - < / - fﬁ(S)d8> du(g)

= (27T)2 : A(Do)
goooon
/M(Rz) (/6(DoﬂgD1) #(9(Do N 9D1))d8) du(g) = (27)*(A(Dy) + A(Dy))

gobooog
goooood

2m / x(Do N gDy)dp(g)
M(R2)

N [M(RQ) </3(DoﬂgD1) k(0(Do N gDy))ds + Z 0;(0(Dy N ng))> du(g)
= (27)*(A(Dy) + A(Dy)) + 21 L(co) L(cy)

gobobobboogob

/M(RZ) X(Do N gD1)dp(g) = 2m(A(Do) + A(D1)) + L(co) L(cy).



